VAU MRUFT1) a—L500 Vaq U MRUFT1) a—L1600

VAU MRUFT) a—L400

510

10020

a4 MRUFT) 2—L14300
S=1:10 S=1:10 S=1:10 S=1:10
280 510 620 690
40 300 40 55 400 55 60 500 60 45 600 45
o S BELZIL -
& (1:38B) o g HELSIL ol 8§ -
of 2 C . (1:3BB) ® HEILSIL g &
§ R oF THE «
e N - 3 K (1:3BB)
EHEH = S ‘ : of 3 N
(RC-40) R = %f%@ % ié S ‘ ;
50 340 50 (RC-40) EREH = g%@ @%
50 440 50 (RC-40) FE M
440 90 540 50 (RC-40) | |
540 50 640 50
640
740
10m L) HUED) HUED) HUED)
# R ¥ OB = = & = £ R ¥ OB = = & = £ R ¥ OB =W = & = £ R ¥ OB = = | 4 =
~yFoya-u |G @ O | B 5.0 1 ERSRM n~yFoya-u |G @ O | B 5.0 1 ERSRM ~yFoya-u | B @ S | B 5.0 1 ERSRM ~>F7va=h | Goy Boxaon | B 5.0 1 ER R
BELZIL 1:3BB m3 0.07 BELZIL 1:3BB m3 0.09 BELZIL 1:3BB m3 0.11 HEILAIL 1:3BB m3 0.13
H B # | RC-40 t=100 m 2 4. 40 H B # | RC-40 t=100 m 2 5.40 H B # | RC-40 t=100 m 2 6. 40 ® B # | RC-40 t=100 m 2 7. 40
A4 MRUFT) 2—L4LT700 a4 RUFT) 2—L14800 a4 ERUFT) 2—14900 a4 MRUFT1) 2—11000
S=1:10 S=1:10 S=1:10 S=1:10
800 900 1010 1110
50, 700 50 50, 800 50 55, 900 55 55, 1000 55
< o
BEILZI © 2
(1:3BB) BHEIJLAI
= N (1:3BB) BE)LAIL
G o = K (1:3BB) HEILZIL
%%E@ ?ﬁ % j S ‘ i 3 N (1:38B)
= %%E@ & ‘ #) o K
’ A - B —— ﬂ
(RC—40) 2hEH B = %%E@ @%%
50 750 50 (RC-40) HEH i
50 850 50 (RC-40) | | E R
850 50 960 50 (RC-40)
950 50 1060 50
1060
1160
10m4 Y 10m Y 10m Y 10m24 Y
£ 1 < ¥ |BAI | = & = £ 1 < ¥ |HAI | = & = £ 1 < ¥ |BAI | = & = £ I < ¥ |BfAI | = & =
n~yFoya-u | B O e | B 5.0 -t nuFoya-u | O e | B 5.0 -t nyFoya-u | B O O | B 5.0 - -t nyFoya-u |G O ol B 5.0 11 ERR A
HELAIL 1:3BB m3 0.15 BELZIL 1:3BB m3 0.17 BELZIL 1:3BB m3 0.19 BELZIL 1:3BB m3 0. 21
H B # | RC-40 t=100 m 2 8.50 H B # | RC-40 t=100 m 2 9.50 H B # | RC-40 t=100 m 2 10. 60 H B # | RC-40 t=100 m 2 11. 60

oA MRUFT) a2 —LA

X| [ % 75

e R A1 1/10 2020. 7k




